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.     Sketching y = (x + a)(x + b)    .
1)  y = (x + 1)(x – 2)
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‘x’ intercepts


‘x’ for vertex
‘y’ intercept



‘y’ for vertex
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2)  y = (x)(x + 2)
[image: image4.emf]y
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‘x’ intercepts


‘x’ for vertex

‘y’ intercept



‘y’ for vertex

General rule:    y = (x + a)(x + b)

Use the values of ‘a’ and ‘b’ to find the ‘x’ intercepts

Solve each bracket to be =0
    x + a = 0
x + b = 0

Mark both ‘x’ intercepts.
Use the midpoint between these to find the vertex coordinates. 
x value of midpoint = ?
Substitute ‘x’ back into original equation to find ‘y’ value (coordinate of vertex)
.     Practice    .
1) y = (x + 1)(x – 3)

2) y = (x + 1)(x + 4)

‘x’ intercepts    ____   ____
‘x’ intercepts    ____   ____

‘y’ intercept    ____

‘y’ intercept    ____

‘x’ value of vertex    ____
‘x’ value of vertex    ____

‘y’ value for vertex    ____
‘y’ value for vertex    ____

Or… How far across to the line of symmetry, then square this to find the vertex
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.     Practice 2    .
Sketch

1) y = (x + 1)(x – 5)

2) y = (x + 5)(x + 1)

3) y = x2 – 1x – 6 
.     Practice 3    .
Write the equations for these graphs
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